Miloslav Vlasák; Zuzana Vlasáková Derivation of BDF coefficients for equidistant time step

In: Jan Chleboun and Petr Přikryl and Karel Segeth and Jakub Šístek (eds.): Programs and Algorithms of Numerical Mathematics, Proceedings of Seminar. Dolní Maxov, June 6-11, 2010. Institute of Mathematics AS CR, Prague, 2010. pp. 221–226.

Persistent URL: http://dml.cz/dmlcz/702761

## Terms of use:

© Institute of Mathematics AS CR, 2010

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

# DERIVATION OF BDF COEFFICIENTS FOR EQUIDISTANT TIME STEP\*

Miloslav Vlasák, Zuzana Vlasáková

#### Abstract

We present the derivation of the explicit formulae of BDF coefficients for equidistant time step.

### 1 Introduction

In this paper we deal with the coefficients of *Backward Differential Formu*lae (BDF). BDF represent very important scheme for solving stiff ODE's (see [2] and [3]) which can arise from a lot of important practical tasks, see e.g. [1]. For survey on solving stiff problems see [5]. In this paper we present the order conditions for the coefficients of BDF which can be viewed as some linear system of equations, formulate the explicit relations for the BDF coefficients and show that these relations for BDF coefficients represent the solution of this system for arbitrary order. Advantage of our approach is that we use only simple arithmetic means without differentiation. In fact, the differentiation is hidden in derivation of the order conditions, where Taylor expansions are used.

## 2 BDF and order conditions

We consider  $y \in C^1(0,T)$  the solution of ordinary differential equation

$$y'(t) = F(t, y(t))), \quad \forall t \in (0, T),$$
  
 $y(0) = A \in R.$ 
(1)

We assume the equidistant partition  $t_m = m\tau$ ,  $m = 0, \ldots, r$  of interval [0, T] with discretization step  $\tau = T/r$ . We denote  $y^m$  the approximation to the exact solution  $y(t_m)$ . The difference equation

$$\sum_{v=0}^{k} \alpha_v y^{m+v} = \tau F(t_{m+k}, y^{m+k}),$$
(2)

where  $\alpha_v$  are some suitable real constants, we call Backward Differential Formula (BDF). We call the method (2) k-step BDF, if  $\alpha_k \neq 0$  and  $\alpha_0 \neq 0$ .

<sup>\*</sup>This work was supported by grant No. 10209/B-MAT/MFF of the Grant Agency of Charles University.

Now we formulate the order conditions. We say that BDF has order  $p \ge 0$ , if

$$\sum_{v=0}^{k} \alpha_v v^s = sk^{s-1} \tag{3}$$

for s = 0, ..., p. The order conditions for general linear multistep method including the proof can be found in e.g. [4].

**Theorem 1.** Let  $k \ge 1$ . Then there exists only one k-step BDF of order k and this method has the coefficients

$$\alpha_{v} \equiv (-1)^{k-v} \binom{k}{v} \frac{1}{k-v}, \quad v = 0, \dots, k-1,$$
(4)

$$\alpha_k \equiv \sum_{v=1}^{\kappa} \frac{1}{v}.$$
(5)

### 3 Proof of Theorem

It is simple to see that (3) represents linear system of Vandermonde type (which is obviously nonsingular), if p = k.

**Lemma 1.** The system of equations (3) is equivalent to the system:

$$\sum_{v=0}^{k} \alpha_v = 0 \tag{6}$$

$$\sum_{v=0}^{k} \alpha_v (k-v) = -1$$
 (7)

$$\sum_{v=0}^{k} \alpha_v (k-v)^s = 0$$
 (8)

for s = 2, ..., k.

*Proof.* We can see that matrix represented by the system (6)-(8) is nonsingular, because similarly as in the previous case the matrix is of Vandermonde type. At first we will prove that (7) and (8) follows from (3). First equation (6) is one of the equations of (3). Second equation (7) we can divide into two parts and enumerate them by (3):

$$\sum_{\nu=0}^{k} \alpha_{\nu}(k-\nu) = k \sum_{\nu=0}^{k} \alpha_{\nu} - \sum_{\nu=0}^{k} \alpha_{\nu}\nu = 0 - 1 = -1.$$
(9)

The remaining equations (8) are proved using (3):

$$\sum_{v=0}^{k} \alpha_{v}(k-v)^{s} = \sum_{v=0}^{k} \alpha_{v} \sum_{i=0}^{s} {\binom{s}{i}} (-1)^{i} k^{s-i} v^{i} = \sum_{i=0}^{s} (-1)^{i} {\binom{s}{i}} k^{s-i} \sum_{v=0}^{k} \alpha_{v} v^{i}$$
(10)  
$$= \sum_{i=0}^{s} (-1)^{i} {\binom{s}{i}} k^{s-i} i k^{i-1} = k^{s-1} \sum_{i=0}^{s} (-1)^{i} \frac{s!}{i!(s-i)!} i$$
$$= k^{s-1} \sum_{i=1}^{s} (-1)^{i} \frac{s!}{i!(s-i)!} i = -k^{s-1} \sum_{i=1}^{s} (-1)^{i-1} \frac{s(s-1)!}{(i-1)!(s-1-(i-1))!}$$
$$= -sk^{s-1} \sum_{i=0}^{s-1} {\binom{s-1}{i}} (-1)^{i} = -sk^{s-1} (1-1)^{s-1} = 0$$

for  $s \ge 2$ . Now we will prove that (3) follows from (6), (7) and (8). The equation (3) for s = 0 is exactly (6). The rest we will prove by induction. As first step we will prove that (3) holds for s = 1.

$$-\sum_{v=0}^{k} \alpha_{v}(k-v) = -k\sum_{v=0}^{k} \alpha_{v} + \sum_{v=0}^{k} \alpha_{v}v = \sum_{v=0}^{k} \alpha_{v}v = 1 = sk^{s-1}$$
(11)

Then let us assume that (3) holds for i = 1, ..., s - 1. Then

$$0 = \sum_{v=0}^{k} \alpha_{v} (k-v)^{s} = \sum_{v=0}^{k} \alpha_{v} \sum_{i=0}^{s} (-1)^{i} {\binom{s}{i}} k^{s-i} v^{i} \quad (12)$$

$$k^{s-i} \sum_{v=0}^{k} \alpha_{v} v^{i} = (-1)^{s} \sum_{v=0}^{k} \alpha_{v} v^{s} + \sum_{i=0}^{s-1} (-1)^{i} {\binom{s}{i}} k^{s-i} \sum_{v=0}^{k} \alpha_{v} v^{i}$$

$$=\sum_{i=0}^{s}(-1)^{i}\binom{s}{i}k^{s-i}\sum_{v=0}^{k}\alpha_{v}v^{i} = (-1)^{s}\sum_{v=0}^{k}\alpha_{v}v^{s} + \sum_{i=0}^{s-1}(-1)^{i}\binom{s}{i}k^{s-i}\sum_{v=0}^{k}\alpha_{v}v^{i}$$
  
the the induction assumptions we will get from the second term:

With the induction assumptions we will get from the second term:

$$\sum_{i=0}^{s-1} (-1)^{i} {\binom{s}{i}} k^{s-i} \sum_{v=0}^{k} \alpha_{v} v^{i} = \sum_{i=0}^{s-1} (-1)^{i} {\binom{s}{i}} k^{s-i} i k^{i-1}$$
(13)  
$$= k^{s-1} \sum_{i=0}^{s-1} (-1)^{i} {\binom{s}{i}} i = -(-1)^{s} s k^{s-1} + k^{s-1} \sum_{i=0}^{s} (-1)^{i} {\binom{s}{i}} i$$

Now it is sufficient to show that

$$\sum_{i=0}^{s} (-1)^{i} {\binom{s}{i}} i = \sum_{i=1}^{s} (-1)^{i} {\binom{s}{i}} i = \sum_{i=1}^{s} (-1)^{i} \frac{s!}{i!(s-i)!} i \qquad (14)$$

$$= -s \sum_{i=1}^{s} (-1)^{i-1} \frac{(s-1)!}{(i-1)!(s-1-(i-1))!} = -s \sum_{i=1}^{s} (-1)^{i-1} {\binom{s}{i}}$$

$$= -s \sum_{i=0}^{s-1} (-1)^{i} {\binom{s-1}{i}} = -s(1-1)^{s-1} = 0$$
2. From (12), (13) and (14) follows (3).

for  $s \ge 2$ . From (12), (13) and (14) follows (3).

**Lemma 2.** Let  $\alpha_v$  are the coefficients of k-step BDF of order  $k \geq 2$ . Then

$$\alpha_v = (-1)^{k-v} \binom{k}{v} \frac{1}{k-v} \tag{15}$$

for  $v = 0, \ldots, k - 1$ .

*Proof.* Because we have shown in Lemma 1 that system of equations (3) is equivalent to system (6), (7) and (8) and since  $\alpha_k$  depends only on (6) we can prove our lemma by substituting to (7) and (8). When we substitute to (7) we get by binomial theorem

$$\sum_{v=0}^{k} \alpha_{v}(k-v) = \sum_{v=0}^{k-1} \alpha_{v}(k-v) = \sum_{v=0}^{k-1} (-1)^{k-v} \binom{k}{v} \frac{1}{k-v} (k-v)$$
(16)  
$$\sum_{v=0}^{k-1} (-1)^{k-v} \binom{k}{v} = \sum_{v=0}^{k} (-1)^{k-v} \binom{k}{v} = 1 = (1-1)^{k-1} (k-v)$$
(16)

$$= \sum_{v=0}^{k-v} \binom{n}{v} = \sum_{v=0}^{k-v} \binom{n}{v} - 1 = (1-1)^k - 1 = -1,$$
  
> 1. Now we will prove the rest by induction. We denote  $\alpha_i^j$  the coeffi

for  $k \ge 1$ . Now we will prove the rest by induction. We denote  $\alpha_i^j$  the coefficient  $\alpha_i$  of BDF of order j. As the first step we will prove that our  $\alpha_v^j$  satisfies (8) for s = 2,  $2 \le j \le k$ :

$$\sum_{v=0}^{j} \alpha_{v}^{j} (j-v)^{s} = \sum_{v=0}^{j-1} \alpha_{v}^{j} (j-v)^{2} = \sum_{v=0}^{j-1} (-1)^{j-v} {j \choose v} \frac{1}{j-v} (j-v)^{2}$$

$$= \sum_{v=0}^{j-1} -(-1)^{j-1-v} \frac{j(j-1)!}{v!(j-1-v)!}$$

$$= -j \sum_{v=0}^{j-1} (-1)^{j-1-v} {j-1 \choose v} = -j(1-1)^{j-1} = 0$$
(17)

Now let us assume that  $\alpha_v^j$  satisfies (8) for  $j = 2, \ldots, k - 1$ . Now we want to prove that  $\alpha_v^k$  satisfies (8) for  $2 \le s \le k$ . We know that it holds for s = 2. We will assume that it holds for s - 1. From this follows

$$\sum_{v=0}^{k} \alpha_{v}^{k} (k-v)^{s} = k \sum_{v=0}^{k} \alpha_{v}^{k} (k-v)^{s-1} - \sum_{v=0}^{k} \alpha_{v}^{k} (k-v)^{s-1} v \qquad (18)$$

$$= 0 - \sum_{v=1}^{k-1} \alpha_{v}^{k} (k-v)^{s-1} v = -\sum_{v=1}^{k-1} (-1)^{k-v} {k \choose v} (k-v)^{s-2} v$$

$$= -\sum_{v=1}^{k-1} (-1)^{k-1-(v-1)} \frac{k(k-1)!}{(v-1)!(k-1-(v-1))!} (k-1-(v-1))^{s-2}$$

$$= -k \sum_{v=0}^{k-2} (-1)^{k-1-v} \frac{(k-1)!}{v!(k-1-v)!} (k-1-v)^{s-2}$$

$$= -k \sum_{v=0}^{k-2} \alpha_{v}^{k-1} (k-1-v)^{s-1} = 0$$

**Lemma 3.** Let  $\alpha_v$  are the coefficients of k-step BDF of order  $k \geq 2$ . Then

$$\alpha_k = \sum_{v=1}^k \frac{1}{v} \tag{19}$$

*Proof.* We will use the notation  $\alpha_v^j$  for  $\alpha_v$  of the BDF of order j. It is easy to compute that  $\alpha_1^1$  and  $\alpha_2^2$  satisfy our lemma. Now we want to show that  $\alpha_{k+1}^{k+1} - \alpha_k^k = \frac{1}{k+1}$ , which proves our lemma. From (6) follows

$$\alpha_{k+1}^{k+1} = -\sum_{v=0}^{k} \alpha_{v}^{k+1} = -\sum_{v=0}^{k} (-1)^{k+1-v} \binom{k+1}{v} \frac{1}{k+1-v}$$
(20)  
$$= -(-1)^{k+1} \frac{1}{k+1} - \sum_{v=1}^{k} (-1)^{k+1-v} \binom{k+1}{v} \frac{1}{k+1-v}$$
$$= -(-1)^{k+1} \frac{1}{k+1} - \sum_{v=0}^{k} (-1)^{k-(v-1)} \frac{1}{v} \frac{(k+1)k!}{(v-1)!(k-(v-1))!} \frac{1}{k-(v-1)}$$
$$= -(-1)^{k+1} \frac{1}{k+1} - \sum_{v=0}^{k-1} (-1)^{k-v} \binom{k}{v} \frac{1}{k-v} \frac{k+1}{v+1}$$
$$= -(-1)^{k+1} \frac{1}{k+1} - \sum_{v=0}^{k-1} \alpha_{v}^{k} \frac{k+1}{v+1}$$

Now we can compute  $\alpha_{k+1}^{k+1} - \alpha_k^k$ . From (20) and  $\alpha_k^k = -\sum_{v=0}^{k-1} \alpha_v^k$  we get

$$\begin{aligned} \alpha_{k+1}^{k+1} - \alpha_k^k &= -(-1)^{k+1} \frac{1}{k+1} - \sum_{v=0}^{k-1} \alpha_v^k \left(\frac{k-v}{v+1}\right) \end{aligned} (21) \\ &= -(-1)^{k+1} \frac{1}{k+1} - \sum_{v=0}^{k-1} (-1)^{k-v} \binom{k}{v} \frac{1}{k-v} \left(\frac{k-v}{v+1}\right) \\ &= -(-1)^{k+1} \frac{1}{k+1} - \sum_{v=0}^{k-1} (-1)^{k-v} \frac{k!}{(v+1)!(k-v)!} \\ &= -\frac{1}{k+1} \left( (-1)^{k+1} + \sum_{v=0}^{k-1} (-1)^{k+1-(v+1)} \frac{(k+1)!}{(v+1)!(k+1-(v+1))!} \right) \\ &= -\frac{1}{k+1} \left( (-1)^{k+1} + \sum_{v=1}^{k} (-1)^{k+1-v} \binom{k+1}{v} \right) \\ &= -\frac{1}{k+1} \sum_{v=0}^{k} (-1)^{k+1-v} \binom{k+1}{v} = \frac{1}{k+1} - \frac{1}{k+1} \sum_{v=0}^{k+1} (-1)^{k+1-v} \binom{k+1}{v} \\ &= \frac{1}{k+1} - \frac{1}{k+1} (-1+1)^{k+1} = \frac{1}{k+1} \end{aligned}$$

We can verify by simple calculation that Lemma 2 and Lemma 3 hold for k = 1, too.

## References

- [1] Dolejší, V. and Vlasák, M.: Analysis of a BDF-DGFE scheme for nonlinear convection-diffusion problems. Numer. Math. **110** (2008), 405–447.
- [2] Gear, C.W.: The automatic integartion of ordinary differential equations. Communications of the ACM 14 (1971), 176–179.
- [3] Gear, C.W.: Numerical initial value problems in ordinary differential equations. Prentice–Hall, Inc., Englewood Cliffs, N.J., 1971.
- [4] Hairer, E., Norsett, S.P., and Wanner, G.: Solving ordinary differential equations I, Nonstiff problems. Number 8 in Springer Series in Computational Mathematics. Springer Verlag, 2000.
- [5] Hairer, E. and Wanner, G.: Solving ordinary differential equations II, Stiff and differential-algebraic problems. Springer Verlag, 2002.